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1 Answer the following questions and write your answers in the boxes provided.

1) Solve the equation z® + 422 + 4z + 1 = 0.

2) Solve the equation cos2x +cosz =0 (0 <z < 27).

1
3) Solve the inequality 3°71 4+ — < 4.

4) Solve the inequality log,

33’5

20 — 1 < logy x.




120

1
5) Calculate Z
n=0

Vn+1+n

6) How many integers n are there such that 1 < n < 200 and n is not divisible
by 2 nor 5 7

7) Leta=(1, 3, —2),b=(2, 1, 1), c = (=3, 1 —s, t). Find the values of s

and ¢ such that c is perpendicular to a and b.

8) Find the tangent line to the curve y = e> which goes through the point
(0, 0).




oo
9) The sequence {a,} satisfies the following conditions. Calculate Z Ay, .

n=1

CL1:5, Api1 = ——ap (n:]-y 27 37)

1 —v1—si
10) Calculate lim e

r—0 €T

11) Let f(x) =z —log,(2x 4+ 1). Solve the inequality f'(x) < 0.

12) Calculate/ rsinz dx.
0
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Answer the following questions and write your answers in the boxes provided.

1) Find a.

2) Find the minimum positive integer n such that A" (

3) Find A2014,

0
1

)

(

1
0

):

A2014 _




3 Let n be a positive integer. Answer the following questions and write your

answers in the boxes provided.

1) Let f(z) = z(1 —z)". Solve the equation f'(x) =0 in the open interval

0<x<l.

2) Let a, be the maximum value of f(x) = (1 — )" in the closed interval
0 <z < 1. Calculate lim (n+ 1)a,.

n—oo

1
3) Calculate / z(1—1z)" dx.
0




